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and 6,084 in prime factors. Using your

1,092
west terms and

' -—Ji—— h ;
results, reduce 1’092 to its 10
gquare root of 6,084
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y - 1
8% — 637

(, (8 Express' 858
write down the

2 2

(c) Without using logérithms , find th

two places of decimals.

(d)F£?Lt9 the nearest penny,t
paint at £2 8s. 9d. Pper gal.
(e) I ,
5/?_ ;g? tf‘ﬂi’-ls 4(_) miles on a gallon of petrOl.
1801ﬁje§? on, find the cost of petrol for a journey 0
Putting .
per g‘;‘ﬁgf‘g M for miles per gallon, P
miles, wri in shillings and D fo¥ distance cravelled 1n
journe te down an expression for C, the cost of @
y in pounds (£).
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3, Draw a graph on o in., graph paper to convert pounds (£) to U.S.

dollars (%) up to £20. Take £357 as the equivalent of $ 1,000.

Read from your graph the equivalent of £8 4s. O0d. in dollars
and the equivalent of 42 dollars in pounds.

write down the logarithms of 1,001 and

4. (a) Using the tables, : : i
0:003723, and the anti-logarithms of 2-5492 and 00027,

9 = and log 3 = 4, write down the logarithms of

lo
(v) I{-5,g6 and 12 in terms of p and Q.

(c) Evaluate using logarithms:

3 24.36 X 0-318 |
0:0034 X 785+ 4

bxz maPks;)
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5, (a) If two triangles have two sides of one e

of the other, respectively, and

: ~vCuiy, the an 2 e o
those sides equal, prcve that the triaﬁég:scgﬂgam‘:d by
all respects, equal in

(b) In Fig. 2, ABC and BDE are e

. : quilateral triangles: rove

that the line joining A D ij e T

Lpat I J ng to 18 €qual to the line Joining
B E (12 marks.)

FIG. 2

6. Solve the equations:~

(12 marks.)
(iii) 6z2 + 52 - 6 = O.

: ne can fiil
7. Two pumps, A and B, are connected to a t_,in;‘hoﬁrifo How LOAE
the tank in 2 hours and B alone can fill‘ii;: ihe ook 7
Will it take the two pumps together to 1

uyally take 18
Owing to a leak in the tank, the tvo g;‘?\gshiﬁtig;gyit would
Minuteg longer than the calculaied time. -3nc¢

¢ , oyll ks
take the leak to empty the full ta (14 marks.)

- e




nlct the points (5, 4), (=3, 2) anc (1, -3).

1
8. Oa io_in., graph paper, . 2
S gle ana draw a perpendicular from

Join these three points to form a @rian
the point (5, 4) to the cpposite side.

Make the appropriate measurements and calculate the area of the

triangle, 1
marks, )

°. Fig. 3 shows a triangle ABC, with a perpencicular AD on BC,

and the angle ABC = 42°, calculate the

If CA =6 in., BD = 5 in.
length; of AB and ﬁC and the values of the angles BCA and CAB,
(14 marks, )
A
C - 8
F‘G' 3

10. The roliowing tabie gives the results of an cxperiment on a lifiing
machine:~

Load in 1lbs. (W) l 135

Effort in 1lbs. (E)

X
o0
o
N
\n
[ ]
W
N
N
L]
«Q
o)
[=aY
o

..

Plct a graph on 7¢ in. graph paper to show the relationshir betweed
E and W,

From the_graph, find (a) the éffort required to 1lift a locad of
% cwt. ancd (L) the law of the machine in thélform E = mit + C.

(14 marks:)




